564 H £SBEEEE E3 =
» KX B &K
S 2013538 9H (L) 13:30 [ RABmE | H50x6 | =527 FREATRRR TV A—15
x & B | EvFREAIZ 2ERZ [ R@ &7 18 [ #m | T
F F YEH 1% g & =2H 1% |
2| & A KE e a=] AR ¥
Y-V =53 B . e ) 5 8.8
7 N
BHEHEXE 6 5 BB K=
KICK OFF i 3 6+ H 3 i CKICK OFD
xR a1—hk B . | 1 & . 5 a1—k T K
=] 7] 90] 75]60[ 45] 30] 15] 5t] = 2FE 2| g |2| E $_% = [Et]15]30]45] 60] 75] 90 > [&H]
0 i KE | 21|GK|GK]| 71 A= 0 73
0 mEIl mFE |[26|DF|DF| 24| Bik BEZ4t 0 HT
0 x#H HETL | 3 |DF|DF[95| it AlK 1 1
1 1 BEA I 2 [DF|DF| 8 | &R FEAER 0
0 2 A @A |[33|DF|DF|67| =ME #BE 0
0 T BT |34|MFIMF[12] HF BX 1 1
1 1[1 B N [27|vFMF[14] L@ #E 0
1 1] 1 INR R 29 |MF|MF| 31 EF EF 1 1
1 1] 1 ma B | 30|MFIMF|27] ¥R FOE 1[3]1 1]1
21211 EEREDS 32|FW|Fw| 2 =% KX 3|5 11 21
1 11381 6|2 Wm B [31|FwlFw[ 46| BRI EX 1[5 281181
GK| 51| #H =KX 0 71
DF|62| HE kK& 0 67|24
DF| 16| &k K5 0 71
= LR B B B B B EZ- Rk 5
BR | I K #£ El G EEES K #£
(ZNZIGF N =] F—LE&E 5K H[6AB
6 6 12 [>a—Fk] 16 7 9
5 4 9 G K 4 2 2
3 1 4 C K 4 3 1
2 0 2 | EEFK| 5 3 2
0 5 5 | MEFK]| 2 1 1
0 5 5 | @] 2 1 1
0 1 1 P K 0 0 0
KEES

GED) A7V AFROBFIE. BEI)—Fv 8055 A THARIZEEEDERLTLS,
[Z4£EB] CLRAR—YMITE, C257T L1, CIEE. C4EVIRLDER. C5:EEITA. CoIEFER R, CT-EHFAIA, CeEHAE
GRIBIEA] SUELLFRELT LA, S2ERBHRIT A, S3DIEME, S48 HSMHIE(F) ., S5:15 AHEAEIE () | S6:EE., CS:ZE4L2E

B | F—L BaE T AR BARA (~ RUTIL, = F59VRRR, 1 FEH/R, S:va—k HAFALY)
13 BX |32 & R 29 INRE -1 29 - 32 ARS

18 BAK |46 R JmA |12 HH EBEX F-2: 12 ~ i B 12 1 idhR-1i 46 I ARS
28 X 2 =¥ ;K |12 Hp BX 21 12 ~ i B 12 1 ifhsk-1i 2 IHRES
39 BX |[31i W BERE hg-2i 30 - 31 ~ ifpR-1I BAES

41 BX [31i LA BERE hR-2:FBFFP; — 31 huki ~ HRES

48 BX (30 a8 B PK 30 iERS

56 BX |29 N E -2 2 T ifpR-1i 29 ~ {HBES

60 X |27 #BA ME -1 46 - 27 S HEFGK VU7 21 (HARS
73 X 2 =% ;K |46 B EK hR-2:FBFFP; — 46 : Avbk i ~ ifhR-1: BES

84 X 2 =¥ ;K |27 #BA FE a1 27 — ifhR-1i 2 HES

88 BX |27 B ¥ |33 £A BA Z-1i 33 1 idhs-1i 27 iHRES




